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1.1 HERAREHEE

KEFBEHFRPAE: KEEBHFENBNRIBEFRFELARBHONIZER S, —F
MITEE T URR S EMRKE S, B2ABUREITE, ERELFFTENEE,
HAB—PREFBKHATTREFNER . K, WO BT EEE R, 6k
WEEMAE., AFEHEERE. B LBALRE ., EENESH 130 - 150 WA HE
&1, WRiIE, RESVHE, EEAPRHPLORE, MEBEEMEXAY, SSHEEHN
HMEE,

VU2 iR R T 1 3R (Part 1 : Listening Comprehension) 3t 20 EfE, XA WEY
20 34, X—FBAEIEER T : AN (Section A) ATiHEE, BES—4HAME, WiEEE—
AME B, BY (Section B) H+HEME, ARNE-REXZE, EREE-ZNEE, 58
RXEHNFRE A WE, 1997 EFHELTHFER, BRETABRSEFEWREES (spot
dictation) LAREEAWNE (compound dictation), WHHEB HET N LERE XL, E&
AMECH T IJLK, 52X RS R 5 ki & SR,

1.2 FiEBMBSH (Section A)

1. #EERSH#

ATEBHMNE - BRE—B L ZAH#TH—E %, BE—-BERELS— AREN
AR, SEHURGERBHR, RPE2REFKRER T, XERBHE RN KBASH M
T
(1) F What 215, XX E#REFHBREH—4H,

a. ] “Bfta. B4, Wwtt4a. ffamE” %,

What is the man’s answer?

What does the woman want for lunch?

What are they / the speakers talking about?

What kind of books does the man want to borrow?

What does the woman say about the dictionary?

What does the man wish to know most?

. W: It’s so hot today. I simply can’t work. I wish there were a fan in this room.

M: Sodo I. I'll {all asleep if I stay here any longer.

Q: What are they complaining about? (1998, 6 CET-4)
b. A “fftA”.
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What does the woman tell (ask) the man to do first?
What are the speakers doing now?
What will happen if John fails the exam?
What is the woman going to do?
What does the woman want to buy?
What will the man/ woman most probably do?
W: M: It’s such a beautiful day. Why not sit out in Lthe backyard for a while and enjoy
it?
W: I'dlove to. But there’s a lot of laundry to do.
Q: What will the woman probably do? (1998, 1, CET4)
S | - A
What does the man/ woman mean (imply)?
What does the woman’s answer suggest?
What does the conversation tell us?
What does the woman imply about office work?
Hi: W: Are these TV sets the newest models?
M: Sure. They represent the latest technology. Actually, we sell nothing but the
best.
Q: What does the man mean? (1999, 1, CET4)
- CCAXPE R AE R R R '
What do we learn from the conversation?
What do we learn about the man?
What can be concluded from this conversation?
#: M: Hello, my name is Carlson. I believe you have a room booked for me.
W: Carlson? Oh, yes, Mr. Carlson. It’s a single room with a bath, on the second
floor. I hope it will suit you, sir.
Q: What does the conversation tell us? : (1999, 1,. CET4)
A EAREBREGARE
What does the man think of Miss Brown?
What does the woman think of the plan?
1: W: Tom looks awfully nervous, doesn’t he?
M: Yes, I'm afraid he is not used to making speeches. _
Q: What do they think of Tom? . (2000, 1, CET4)
M CMEERE P RBNAYZ M RR,
W: I often mistake Jim for Bob. Can you tell them apart?
M

el

: No, they look so much alike that they even confused their mother sometimes when
they were young.
Q: What is the most probable relationship between Jim and Bob? (1998, 6, CET-4)
W EER S RBEMAY S HRB,

What's the woman’s job?
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(2)

(3)

(4)

What probably is Mary?
W: M: Are there any more questions on this lecture? Yes, Mary.
W: Dr. Baker, do you think an independent candidate could become president?
Q: What most probably is Mary? (1997, 1, CET-4)
A How #7],
FMIMREER TR FESEANETR,
How did the teacher usually begin his class?
How does the man usually go to work?
W: M: If [ were you, 1'd ride a bike to work. Taking a crowded bus during rush hours
is really terrible.
W: Thank you for your advice, but my bike has got a flat tyre.
Q: How would the woman most probably get to work? (1997, 6, CET-4)
] “XHEFHRZ LA
How does the man feel about the movie?
How do you like the film?
f: W: You seem to have a lot of work to do at your office. You're always staying late
and working overtime.
M: That’s true. But it’s no bother to me. The work is interesting. I don’t mind
extra hours at all.
Q: How does the man feel about his job? (1998, 1, CET-4)
M “Z47, BTHREFHE, TEEUTILHER.
How many persons. . .?
How many dozens of. . .does. . .want?
How much does. .. 7
How old is...?
How long does it take...to...?
. W: Here’s a 10-dollar bill. Give me two tickets for tonight’s show please.
M: Sure. Two tickets and here’s $ 1.40 change.
Q: How much does one ticket cost? (1997, 6, CET-4)
Fl Where £, [ “XMiEFERAET AGHIIKER",
Where does this conversation most probably take place?
Where does this conversation most likely occur?
Where are the man and woman?
#: M: Can you tell me the title of this oil painting?
W : Sorry, I don’t know for sure. But I guess it’s an early 18th-century work. Let
me look it up in the catalog.
Q: Where does their conversation most probably take place? (2001, 1, CET-4)
Fl When (at what time. .. / what’s the date / when the conversation takes place?) #

B, ATéE “Hshs, MAHRSEHSEREL, FEH” %,
When will he be paid?
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(5)

(6)

When will the winter vacation begin?
When did the match finally begin?
f: M: What's the time for departure?

W: 5:30. That only leaves us 15 minutes to go through the customs and check our

baggage.

Q: At what time did the conversation take place? (1997, 1, CET-4)
A Why (%8Bt tLH what causes. .. / for what purpose...) #[, WLARREHE, oLl
RN 5
Why is the man late?
Why did the man repair the car by himself?
Why didn’t the man accept the job?
Why did the woman remember James so well?
f: M: Good morning. This is John Parker speaking. I’'m just ringing to confirm my

appointment with Mr. Smith for this afternoon.

W: Yes. Mr. Smith’s expecting you at 3 o’clock.

Q: Why is the man making the phone call? (2000, 1, CET-4)
F Who #2181, W REMEI XS 758 5 — 7 B9 S O G I KB H M A MBS, .
W: Excuse me, Sir. I’'m going to send this parcel to London. What's the postage for it?
M: Let me see. It's one pound and fifty.
Q: Who is the woman most probably speaking to? (1997, 6, CET-4)
AT RARPESERER 5, KBATLUAN L B, AT PEIR LA — B EE R R

HeB8pmE4a, (L Whom, Whose, Which $218]), 43U FRIBAH AR ETIR

],

RERA—— AT

2. BIERBS R

(1)

(2)

(3)

BHEIE . GFEHEMMTER, m.

W: Hi, Bill. Glad to see you. I guess you've been busy lately. What’s the wedding
date?

M: June 10th, two weeks from tomorrow. 1 hope you can be there, if you're in town
that long.

Q: What’s the date when the conversation takes place?

BEE: GFERUMITER, M.

W I’ve prepared the dinner for eight people, but Mary called and said that she and her
husband couldn’t come.

M: That’s all right. I was just going to tell you that I've invited Tom and his girlfriend.

Q: How many guests are coming to the dinner?

WA BEERNMEER., 1.

W: Look at that big field of cotton. And there’s a farm with some beautiful houses.

M: You really get to know the country when you go by train, don’t you?

. Q: Where did the conversation most probably take place?
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(4) HEL: XM IFET LLIEH not, no, neither, nor EHEF, WA but, although
LR, B H would rather, too...to B REBHIERERE ., Bit, ¥ FEEER
FIMUAER. 0.

M: Ann, do you have any extra money you could loan me?

W: [ wish I could help you. I went shopping yesterday. Now I have only two dollars till
the end of the week.

Q: Will the man borrow any money from the woman?
HERZERE E R Noo IXBIEHN ZEHUE I wish [ could help you. X—RBEIEIE.
XAERRNEE L EREENX, HHABEZE 'msorry [ can’t help you. HER.

(5) A\P2: GBRAYXR. AUSHFE, KB FERHE-IMEY, BERBFETEHA
IEF R R
W: I often mistake Jim for Bob. Can you tell them apart?

M: No, they look so much alike that they even confused their mother sometimes when
they were young.
Q: What is the most probable relationship between Jim and Bob? (1998, 6)

(6) Hzhd: X—HKRFNFTBRER, BE. TE, BEEFEEEMERL. m:

W: You're back late. I was worried. How’s the car? What did you find out about it?

M: The mechanic said that the best thing would be to sell it and get a new car. This car
is totally dead.

Q: What will the man probably do with the car?
EXEMEFEPEFELEGHAILMER, BEEBEWEGEH 4, REENERE,

1.3 EXHESH (Section B)

AXRYNEFTEZ. BHEE, BRNEERBEE-EROEE. 2S5 B=2FEX4H
R, BEEXH150-250 M. NEBEEZERNLS. HF. k. BEURRMG
%%, O, ERTRB—-BNEATRRAEERER, TAANEFERHERE 28N
MigiZ ), MEEEEENMAE,

BXERREAWNTRA:

(1) EXFEREENAERENEEATHER,

Q) BREXEHIAEMES -ENBKR, IEERE—-FENIUAFE.

Q) AXFEZHREFTHMIZ, BRANTEMELXWPLEL, BREREXE,

WWEFEHAT, RTUERERNER.

ExmBER, TELSHUTEA:

A 3L

BRPHEFHRPEE, MF—-BRUBHHBETHERNANNEREERE, &
IMER, MRAER, 5 TRE, REUENAECOEEK, ITEXRCEKXRET#
BERRAERE ., s, ADREYS. FEEROSRPREERERE When did it hap-
pen? Where did it happen? Who were the main characters? What'’s this story about? Why...?
P& How...? .
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Sam had worked 30 years for the same company and now he had to retire. As a sign of
gratitude, the company held a dinner in his honor. “Sam,” announced his boss, “it is my
great honor to present this gift to you on behalf of the company.” Sam walked down to the
front of the table and accepted the gift with pride. It was a gold watch and on ‘it was written
“To faithful Sam for 30 years of service.” Sam wept. “I'm at a loss for words.” At home,
Sam’s wife looked at the gold watch critically. “For this you worked 30 years? A cheap gold-
plated watch?” “It’s the thought, dear.” Answered Sam. “The important thing is that T am
not working any more.” His wife held the gold watch to her ear and said: “Neither is your
watch.”

1. What did the company do to honor Sam?
A. They invited him to a party.
B. They asked him to make a speech.
C. They gave a special dinner for him. ;
D. They invited his wife to attend the dinner.
2. How did Sam feel when he saw what was written on the watch?
A. He was embarrassed. B. He felt greatly encouraged.
C. He felt sad. D. He was deeply touched.
3. What can we infer from the story?
A. Sam’s wife did not think the company was fair to Sam.
B. Sam’s wife was satisfied with the gold watch.
C.  Sam did not like the gold watch.
D. The company had some financial problems. (1998, 6, CET-4)

WrRy, @ AETRAEMTEM . E—-BRXT “MilEl (BmMETF) BA47;
FTEXT MR BEZEXT “BERANETFMAREFREEZNEFE

Wi, —EEMERENER, —BREEXHIT LSRN, 388 k%A %%
BEXRTHEHEAL (Sam). AL H (had worked for the same company for 30 years
and had to retire now) K& T EZ 4 AEFAIATE (before his retirement), H T XAHE,
THZERANERRES TN . BARIBHETHA. A 2SKNERZ, RAFMMEHT
AN MM BEA 2B RS BRI TESIRENRER, AUHESERALNEE
8, NTiE BT, BEERGHE,

WA 3L

VAR X T —F R, AMA—SRERR, ERFRAESmHR, #
. RABEIB. REAWE. 2REE. KERA. X3OBE ., RRAIE. CREFUR—
M OHREE, BETXERABHELAETIEFEORS, RNGEEESHTHEX
A, 8.

Bows and arrows are one of man’s oldest weapons. They gave early man an effective
weapon to kill his enemies. The ordinary bow or short bow was used by nearly all early people.
This bow had limited power and short range. However, man overcame these faults by learning

to track his targets at a close range. The long bow was most likely discovered when someone
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found out that a five-foot piece of wood made a better bow than a three-foot piece. Hundreds of
thousands of these bows were made and used for three hundred years. However, not one is
known to survive today. We believe that a force of about one hundred pounds was needed to
pull the string all the way back on a long bow. For a long time the bow was just a bent stick
and string. In fact, more changes have taken place in a bow in the past 25 years than in the
last 7 centuries. Today’s bow is forceful. It is as exact as a gun. In addition, it requires little
strength to draw the string. Modern bows also have precise aiming devices. In indoor con-
tests, - perfect scores from 40 yards are common. The invention of the bows itself ranks with
the discovery of fire and the wheel. It was a great step forward for man.
1. Why did man have to track his target at a close range when using a short bow?

A. Because it was too heavy. B. Because it did not bend easily.

C. Because it did not shoot far. D. Because its string was short.
2. What does the passage tell us about the long bow?

A. Tt went out of use 300 years ago.

B. It was invented after the short bow.

C. It was discovered before fire and the wheel.

D. It’s still'in use today.
3. What do we know about modern bows?

A. They are accurate and easy to pull.

B. Their shooting range is 40 yards.

C. They are usually used indoors.

D. They took 100 years to develop. (2000, 6, CET4)

W AR A AT A, B — BRI AN RIS TR R $5 9 shoot, bend,
string LA SFBRITX B ERBMNE—F A Fod. TEHOEGRNAT, ERE
- SHNRTTAXESKRDS RBRMEREYN, HELF2BR%,

P —RRXEYHITABRSE, BHY, BER. FHEMEEOMEEZRY,
KEME-OREHTEE: SANREALREZNREZ -, FESTEVS MFHHK
BRIk, 0 E TR AR, ERMNEEATRAET

B2, WECER, REENE.

(1) SUE R ARG B0, FME RS, UEVNAEORE,

(2) HEFEMESE -4, XETREETEOLE, CRRERT QP RORE

IR .

1.4 WEER (FHER) 2
WMEEMNAMER . WWEIHEZ (spot dictation) MEEHXWE (compound dictation) o
1. Spot Dictation :

MHEHZARAEY, XBEARNENF-TRERFREL., AEFABRREXTR
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FH X o BB Y B B R R AR

EEE" RHE “WAHERBE ZF. X% LAH—B200 AAEAMEX, HP
HIONTEAZEK. BIERERAA-TATHATH BT, 2XUKREFREREN
EEPEEE, BREXHE, WARE, REENELXHE; BoRESKEAE
W, BRELEEFVWATHEAASKE; EZRAB B -BHBEAEW, BH5EHTEX,
“WMHEZE" FAEXHEN . SBRMEEESHAERBINT HREMRR, “WEK
27 FREGEENHRRENM—E0-BEREEN . HEENT:

In the United States, people appear to be constantly on the move. (1)

How often (2) moving vans on the road?

(3 .. Are so many people actually (4) ? Yes, people in the

United States are indeed on the move. (35) , about one third of the popula-
tion (6)

Every person who moves (7) for making such a decision. Some people

may decide to move (8) . Some may wish (9) . And

some have many other reasons. (10) , the amount of movement in this

country is substantial.

Keys: (1) Think for a moment (2) do you see
(3) They seem to be everywhere. (4) changing their addresses
(5) Within any five year period (6) change their place of residence
(7) has his or her own personal reasons (8) because of employment opportunities

(9) tolive in a warmer or a colder climate (10) Regardless of the specific causes

2. Compound Dictation

HEER: KRB LEH R 200 AEANEX, KPH 0/ MERNSH, EH1-7
MREEE, BEREARTBEIMERNRIE; =6 8-10 AT THS, THARTAMER
A, MATHACHERBRIITAGTFRORE. EXURRAETHEERZ= R, F—BEH
Eu, HEETELIXAS; FRESKEARE, EXFABWIANATEASHE;
REEBBAER, REEEEREASHNNE. EARXNTEXEXRE H/MEMUEE X,
HaXWEREZERZIINT S, EXEHEHS. LECRIMBEREES.

Very few people can get a college degree before 11, but Michael was an exception. He
started high school when he was 5, finishing in just nine months. He became the (S 1)
youngest college graduate when he was 10 years and 4 months old, earning (S 2)
degree. Now at 11 Michael’s working on a master’s degree in (S 3) _intelli-
gence. .
But Michael’s (S4) __ hasn’t always come easy. (S5) _ his intelligence, he
still lack important life (S 6)
In one class, he had to struggle to understand (S 7) novels, because, he says,
“I'm 11. I've never been in love before.”

Another challenge was his size. (S 8)
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He likes computers so much (S 9)

He wants to make robots do all the heavy tasks.

(S 10)
Keys: S 1 world’s S 2 architecture S 3 artificial S 4 success
S 5 Despite S 6 experience S 7 romantic

S 8 high school physical education was difficult, because all of the equipment was too
big for the then five-year-old student
S 9 that in graduate school he’s studying how to make them think like people
S 10 Michael is smart, but he is just like every other kid

RELE LN RERENEEAEER, RIVAIBEEXTERBEERLTILA:

(1) BEAYHE-EBHWHER, FARE-ITF, MERRFEHH s S L6t
) -ed FEATT, WREVTHEEXLFH, ATRE LT IOHE

Q) BFHRERBBFAKANE, SRBARXTHRE. HAAECHERESE
AEAERSAEE, [N B R RIERER,

1.5 MR HESREE

MRERFANERTWAESZEREATAERAPRBE S, REFEELH
WS RN GRBE T S K E A REBR, XMEERRAYIERN, BEERREWHKE, XEE
Vot W, WHEADNFERLERE., 5. WESE. WiBREERNMES . URERE
BAMEERETR, BT HHERFTELR KBER, R0 LHE o £ #5404k
KA EDERIMEE IS KRIEH, §X 1A/ KT F K E Y BER R, B4
PAF R BB E# (0 VOA, BBC, China Radio International, ete.) HEFHZLIH,
HFAE, SRERBIEERBINER. B4, PEHTHEAD), ¥ RMRE, B4R 0
PR, B BBERIEEE A ESANME, WARETRERPHAR., EiZ. [k,
AREEBE, Xomsk, N FPFNESTS. ZWWANAAGEEEFEERLE. A
®B.EBEHIA. HeXmiR, BEMRE, THIEREREELESTFER S FREFEMRE
KRPEES . B, U ERSRRHETI TR,

45, BEATRHITEMIFART AN RBEIWEEER. TH LMK L#R
ZEAENFEERD RELNABKFE. T IJLERE AR SR B .

1. X B R R

ATHENERRTE, HEHEHELT, AEAEARIAHHNEFRISERTAR
TRMA KL, BXEP - BEAEARNER, Bit, ZFHNREEEINEEETH
R XER iR (H) AFHNEEE (BEDHXRERERMITE), SUREXMIEHNAXRA
M. RSP TREE, BXMAATEEE, BEAUERETHEN “What does the man
mean?” EXHEHEH, HEWNEEAYE, AWSHE, SEBER, TEXEEHLSR
Kl o

W: How do you like the play you saw last night?
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M: Well, I should have stayed at home.
Q: What does the man think of the play?
A. It is exciting. B. It is boring.
C. He didn’t see the play. : D. He likes it very much.

A “I should have stayed at home.” (REZFFEFE), X4 # S P F B
AERXHI, MXMBEEFERERERBEE. 518, (should have done something) X R4
Me] fsRRR “WRERAEMER ERARENEFER RS, SHBER". eEm>
HEEERERNBEBRE “The play is boring.” M BRIERKER, SEXBELEER
PUESR . BREGE. Brtki ., BUBRESER. ERFREEOXED, EXKUAW
A, FE=, WAKFHRNE, FHik, BT ARG ES, ENLFRTETBEA SR
EHRER.

2. AXABIRERE R

BYEFEAEZEW AN, HPRENg 150 17, ZKHL 2001, MG EER
HRR, XEATHROWERE., MEZEA . BAEEERY . 8XEHE R B KRRk
SEEA], MBZRXTEXHEE., FLHEANBR, LS54, THHBSRS,
AR ERBEECNASELRERR,

Kikuidk, BWHEHLEENR., HE, XIERNIBTHEAS AN RAGKEL
(RS EXBERERVERRELD), HEEREFEAUNT AR FEHELRSG, T
XEH, REWEEX, ZHERERERMEEM. EEMFAZR B YHRE, FER
RTRELE—RIBAPIEZEFRTHREXBNA, FEERLT, EXHE-TER
FEBAMER. XERTANBREE X, BANETEEEREFHEEETXETL, K
FEHEREEHAST. fln:. 20004 6 AF R HEX. F—HERN There are three
groups of English learners: beginners, intermediate learners and learners of special English.
BXANERRE T O X ZME I EHT AN ER, XEMN=1EE (What is the char-
acteristic of learners of special English? Who needs ESP courses most? What is the speaker

mainly about? ) #5HHE,
3. WERBBEE K

(1) BEFEWLFMERERR, THRRE

“HAEAWE” WHHEIHRXREA X, XEXEBKRERE, sAEB. 4N
FIH—0LE, WERISREEBEREHESHE, NEREXFEME, THEFEADE
—a], REFFMATNXELBRERMKRE, IESEETHIRPRAE N, a2
X R AP F S,

(2) B, BH. F3HH, ERicECHE,

“BEANE ARTHEWHLR, EAMEEREAWNTHEET, THEKEIE
LN FLEE . XBREAFHHE, A%, TRV, URAFE, EXE
o BBABRMEBAERE RMETLLCT REBIEMERES, UBRE ZHEIZEICWE
%. LB ICHWEREA T, B, TUMEAMBE. H sth. fLF something, A sb. &
somebody %%, FHFE=RMEEANE L, HK, CLICHAERE 2 - RiEHE—41F,



E—-F 5 z ‘ 11

N comprehension #] 5 4 comprehen——, It’s raining. B A Its rain. FRE =R E EK AT
BECENERIREE, B, ESHEENNERR, EFEANBERENE, YERE
B, FERBERBYRFA TR L IR AR
(3) ZFEZMERBAEITRERER I RER,
O BEEY: MATGERTMTENE.
O EEHTy. B XHERWE EEH N topic sentence, WAIMNBEBBAEH TIHEHE TS,
O WMXBFAAMMER,
O BEBREH. AXNEFERTWE,
O WriEWr & : speaker MIiE® . B, BREHEMREFNER, ERSMA,
O REIWMXEAEARNFANER, XEX A WNITEXEME,

1.6 3T ETS

1. ®RERFALE

H T RS KEEE TR REEZ T NG, FETIXEEMEL L8R
&, HEWATEEXR, MZRHFFHORE, RERTAKGFRE, X—DEEHRFRS¥A]
W+, BRWASRROR, LEABEERE, BT OERER, FEEE—
TFHEBEA LA RARDFHAFEE, XHMRIFaBEEE, THHAZRETEBRA
H, ATEMEmTHARR, Hib, RRCEER. MBRAFEORERER, FUF
A—MBMGERLR, AXAAEREL; —NEMFCEES, BRAMNTHERE, A RS
e, MEBDEARMNFEFESHELBRORE, EMERBEHFERN. WRBHE
Bk, AOB—THEPERELESHALRHINE . IERBEZEEIEPFEEX, N
BB RIFHWT HBR .

OB ELR EARBSMEZ, TEERKSSHWIBTHACCAHNAR
(B#FE%. AL, KRS MEWAMHNEED, REHTHE, S8, 88, 4%,
ZRAEFAGHER. AMIERBEENSIRS, BLARLEACHEENTR (8
BERRAP) RAEFTTHNRRAE R, XHRERAVNBAGEHESRETN, B
. RS TR

2. WEEDEES

TR R A EEEM AT, RAEI . BERAY, RUBKEENE., H#HEKES
—ABRIMER, FEMK, TEZRE, BH-FAIELRARLERX B BRENER,
B, —BIAEARETR, IBEHRM, SRH2BHAE. BRLERSHBH
B, F"ERERBE, NERKF, TO0HTX. WRELEXNHTBNHERTHN., &
AL EE. W, RERREEXNER, RFELANER.

3. HICHE B i) 5 i A IR

ENT A BB EEARUBEREALAESE L, MREHERNFZETHER, i
PL, BRATT AT 25 Bt (R S0 B TR A 4 000, 3000 8 T LA 308 6 B 000 9 o 28 B iR 18 R



